Masseeinheiten umrechnen

Aufgabe

Wandle die folgenden Massenangaben in die neue Einheit um:

a) 9,5g — mg

d) 364dmg — g

g) 1,62g — mg

j) 130g —t

m) 9120g — t

p) 8610kg — g

s) 5510000 mg — kg
v) 0,0908t = g
)

y) 605000mg — g

b) 2,3mg — g

e) 0,0766t — kg
h) 698kg — t

k) 66kg —t

n) 0,253 g — mg
q) 356kg —t

t) 6,9kg —t

w) 0,255kg — g
z) 0,28kg — g

2,87g — mg
4930g — mg
0,0175g — mg
1610g — mg
0,947t — kg
18,4kg — mg
4840kg — g
3,02kg — g
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Losung

a) 9500mg
d) 0,364g

g) 1520mg
j) 0,00013t
m) 0,00912¢
p) 8610000g
s) 5,5b1kg

v) 90800g
y) 605g

b) 0,00225g
e) 76,6 kg
h) 0,698t
k) 0,066t
n) 253 mg
q) 0,356t
t) 0,0069t
w) 255¢g

z) 280g

2870 mg
4930000 mg
17,5mg
1610000 mg
947 kg

18400 000 mg
4840000g
3020¢g
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